Integrated Math 2 Examples for Test Questions
Chapter 1
	#
	Section
	Example

	1
	1-1
	4

	2
	1-2
	1

	3
	1-2
	2

	4
	1-3
	1

	5
	1-5
	1

	6
	1-5
	5: start halfway through the example.

	7
	1-6
	1

	8
	1-4
	2 (sign help) + 4 (variable help)

	11
	1-7
	1

	12
	1-8
	1

	14
	Algebra 1 book
	Pg. 583: example 2B

	15
	1-8
	Pg. 8: example 2

	18
	1-9
	3

	Bonus
	1-10
	3



Chapter 2
	#
	Section
	Example

	1
	2-1
	4

	2
	2-1
	5

	3
	2-1
	3

	4
	2-2
	1 or 2 or 3

	5
	2-2
	4, but easier

	9
	2-4
	1 (method 2)



Chapter 3
	#
	Section
	Example

	Bonus 4
	3-1
	4

	Bonus 5
	3-1
	1

	6
	3-2
	6 (ignore the fact that it’s a word problem)

	[bookmark: _GoBack]9
	3-3
	3

	10
	3-3
	5 & table above it

	12: Extra Credit
	3-5
	3 

	13: Extra Credit
	3-4
	3

	14: Extra Credit
	3-5
	2

	15: Extra Credit
	3-5
	1

	16: Extra Credit
	3-5
	5





Chapter 4
	#
	Section
	Example

	1
	4-1
	2

	2
	4-1
	Pg. 229 Definition

	3
	4-2
	2 is most similar, but awkward

	4
	4-2
	1

	5
	4-2
	4

	7
	4-3
	1

	8
	4-3
	5

	12
	4-5
	2, but harder at first

	13
	4-5
	3



Chapter 5
	#
	Section
	Example

	1
	Use logic
	

	2
	Pg. 294
	2

	5
	Pg. 278
	Theorem 5.1

	6
	Pg. 284
	1 & table

	Bonus 7
	Pg. 284
	1 & table

	Bonus 8
	Pg. 284
	1 & table

	10
	5-5
	Pg. 311 #9

	11
	5-4
	2



Chapter 6
	#
	Section
	Example

	1
	6-5
	3

	2
	Pg. 336
	1

	3
	Pg. 336
	1

	4
	Pg. 344
	Key Concept box

	5
	Pg. 345
	2

	6
	Pg. 376
	2

	7
	Pg. 358
	Problem 13: See answer in answer binder

	8
	Pg. 358
	Problem 13: See answer in answer binder

	9
	Pg. 395
	4



Chapter 7
	#
	Section
	Example

	1
	7-2
	Pg. 419 Definition of Altitude

	2
	7-2
	Pg. 417 Definition of Median

	3
	7-1
	Pg. 406 Definition of Perpendicular Bisector

	6
	7-1
	Pg. 408 Definition of Angle Bisector

	8
	7-3
	Pg. 428: example 2

	9
	7-3
	Pg. 428: example 2

	Bonus 12
	No examples
	

	Bonus 14
	7-1
	2

	17
	7-5
	Pg. 446: example 1

	19
	7-6
	Pg. 453: example 1 or 2




Chapter 8
	#
	Section
	Example

	1
	8-1
	1

	2
	8-1
	Pg. 478 theorem 8.2 and examples above it

	4
	8-3
	Pg. 497: problem 3B

	7
	8-3
	Pg. 497: problem 3A

	10
	8-3
	Pg. 497: example 3

	11
	8-2
	Start like example 3: Graph it and use logic

	12
	8-5
	Pg. 512: Theorem 8.15

	13
	8-5
	Pg. 513: example 1A

	15
	8-6
	Pg. 522: example 1A

	18
	8-6
	Pg. 523: theorem 8.24; pg. 527: #16 and 17

	19
	8-6
	Pg. 525: example 4A



Chapter 9
	#
	Section
	Example

	1
	9-1
	1

	2
	9-1
	Pg. 545: example 4

	3
	9-1
	Pg. 545: example 3

	5
	9-2
	Pg. 552: example 2

	6
	9-2
	3

	8
	No example
	No good example; use logic

	9
	9-3
	1 or 2

	10
	9-3
	2A? (like problem 4B)

	12
	9-3
	4

	17
	9-5
	1



Chapter 10
	#
	Section
	Example

	1
	10-1
	1

	2
	10-1
	3

	4
	10-2
	1B

	5
	10-2
	4

	6
	10-3
	1A

	10
	10-3
	Pg. 642: problem 3A

	11
	10-4
	Pg. 654: problem 5B





Chapter 11
	#
	Section
	Example

	1
	11-1
	Pg. 715: example 1

	3
	11-5
	2

	4
	11-1
	Pg. 717: example 4, but simpler

	5
	11-2
	1, but simpler

	6
	11-2
	5

	7
	11-3
	Pg. 736, problem 5 in example 5

	9
	11-4
	1

	Bonus 10
	11-4
	5

	Bonus 11
	11-5
	5

	12
	11-6
	1A

	13
	11-6
	1C

	15
	11-6
	3A

	16
	11-7
	1A

	17
	11-7
	3B

	19
	11-8
	1A

	20
	11-8
	1A and 1B



Chapter 12
	#
	Section
	Example

	2
	12-?
	Possibly in lesson 1 but you did this in the lesson 2 HW

	3
	12-?
	Possibly in lesson 1 but you did this in the lesson 2 HW

	5
	12-2
	

	6
	12-2
	

	7
	12-2
	

	8
	12-3
	

	9
	12-3
	

	14
	12-5
	1

	15
	12-5
	2

	16
	12-6
	1



Chapter 13
	#
	Section
	Example

	1
	13-1
	1

	2
	13-1
	3

	3
	13-1
	2 or 3

	4
	13-2
	1 or 2

	6
	13-2
	3

	7
	13-3
	1

	8
	13-3
	2

	9
	13-3
	4

	15
	13-5
	3

	16
	13-5
	2

	17
	13-6
	Pg. 927 concept summary

	18
	13-2
	4B



